H & 0l & AHS B Ml A

20248 =0ila LEHSIH HIZ 1
SA MBI
A HZRAZHI(MEDL)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MIE ot 694,550 803,587 109,037
= 72,842
= 621,708
HH2AZHI(MEDY) 50,072 46,572 3,500
=238l 50,072 46,572 3,500
JI23Hl 46,292 42,792 3,500
201 =3 17,352 17,352 0
01 At22t2l] 17,352 17,352 0
OJ1=ZHl 11,592
-=S il 8,000 x3A1 %128 23 6,624
-2 t=EH| 240,000 x23Z *90f% 4,968
O=S&Hl |X&cll] 5,760
—SAP| 550,000 ~2CH 1,100
Ea=i=p 450,0002 = 10CH 4,500
-A 80,000 *2CH 160
202 04dl 25,440 25,440
01 =LHOHI 25,440 25,440
OO 25,440
—2HLH 160,000 x24 & 122 +50% 23,040
-2 200,000 x24E x50% 2,400
405 AHatE = 3,500 3,500
01 ML ESF SHI 3,500 3,500
OSAPI 2¢ 3,500,000& 3,500
PR=aH Let 3,780 3,780 0
203 HR=4AH] 3,780 3,780
MU A2 LRSI 3,780 3,780
ORM2YLRETY (J1F)
350,000 122 *90% 3,780
et WEe X2 644,478 757,015 A112,537
= 72,842
Ea 571,636
atet N2M =t 481,082 518,721 N37,639
= 72,842
s 408,240
Fur2te| ek 312,412 347,689 N35,277
201 et 3| 178,126 177,893 233
01 At22t2l] 69,923 41,440 28,483
OFJlE DXM HM=]
773 %200,00024 15,400
ONME DXIAM MZH 773 +90,0004 6,930
O A% =2 802 +90,000 7,200
OXNZHMAR, HE & o8 bl
80,000& *192 1,520




SN NED
S st WE XA
cHels ZEe XgA St EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
ONZH 2 Mel%el ABIIE earz
4,800,000 4,800
OABIIC THEHT AHIA 42
80& *10,00024 800
OLBIIXNSEE HAHFE) S5 22|
70&+9,000& 630
OLXMN SEII RAE=HI
1,000,000 *1CH 1,000
OF3J| RAE=H| 1,000,000 *1CH 1,000
O3JI#ED| g4tz
60,0003 =123 «3CH 2,160
OARS & ROIED[(KIZA, M2lag) €2
AMAE SR 24=H| 3,838,250 43| 15,353
OJHA A TAIAE 2tefd]
2,622,500 43| 10,490
OLAXNMEZEE Z2IFD| 2teld]
660,000 *43| 2,640
02 E324Hl 108,203 136,453 228,250
OXLNIXN SERERZ 107,939
- H 4302 x165,00024 70,950
-sJ|R" 2,530 %12, 54521 31,739
-S)|RW BtE2 2,100&*2,500H 5,250
OXgA HMatg=s Y 2= 2AHHIAIK
o=z 264
-S 0l18& 16.5&%12,000H 198
WS ol2= 55&*1,2004 66
203 AR F=&lY| 1,080 1,080
03 Al FRIHRFAIY| 1,080 1,080
ONI==Z Al 1,080,000& 1,080
206 =8l 2,340 2,340
01 M=l 2,340 2,340
OXNYA DXM ZXI 77,0003 #202 A 1,540
OFSHl HIAAH L SR
40,0003 =202t A 800
306 == 15,159 14,353 806
01 &3 15,159 14,353 806
O I XNLHMARHA EHZ
15,159,000 15,159
308 AHXIHMSOIH 115,707 148,646 A32,939
13 I 2 S0IeHE & A E A 115,707 148,646 A32,939
ODNISEAIAEI(ED |2 RE) 29|
948,000 948
ONI+=AHEAAE X222/
38,491,000& 38,491
OXHMICH XIZAl E23tAtE 23|
76,267 ,570& 76,268




2A:

E M

X=]

AIE
st HE2 X

o HEEt YA St

SA - ZE . BR() - HRAR - BES of v G o HIDE2
UAIRtE EH| 560 560
201 er23 | 560 560
01 AlR 21| 560 560
OHEZE AZS2S &BA 28
70,0002 x8H*13] 560
IHEFELA &HE 22,426 26,174 A3,748
101 21AH| 9,466 12,314 A2,848
04 JIZtN2Z2 XS 2+ 9,466 12,314 A2,848
OEFEDIE ZAIRE 22|
78,8803 152 +8H 9,466
201 er23 | 6,160 6,160
01 At2t2ltl 1,000 1,000
ONEFEIE MRES 1,000,000& 1,000
2 s5=34l 5,160 5,160 0
OMgFediAes 2HA3
4303 %12,00024 5,160
207 ARl 6,800 7,700 A900
01 1S4l 6.800 7,700 A900
ONEFII2AMNE CoHZ S
6,800,000& 12 6.800
HE =B S AIALY 145,684 144,298 1,386
= 72,842
o 72,842
101 @124H| 56,794 55,412 1,382
= 28,397
Ea 28,397
04 JIZtN22 NS 2+ 56,7%4 55,412 1,382
ONEFEDIIA ZAIRI 212
56,794,000 56,794
= 28,397
[Ea 28,397
201 er23| 86,970 86,966 4
= 43,485
= 43,485
01 At2teltl 86,970 86,966 4
Oget+=ZHI 9,018,000& 9,018
= 4,509
Ea 4,509
OHM s 288
76,800,000 76,800
= 38,400
T 38,400
ONEFEIAHSAIAY S200AHI
8,000 x2& 6« 123 1,152




AN AED

Hm: fig

ciol: maE KA 2 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 576
s 576
202 04l 1,920 1,920 0
= 960
Ea 960
01 2L AL 1,920 1,920 0
OINEFEILA S ZAL
20,0002 x2H 42 x 122 1,920
= 960
o 960
A== = 114,796 117,694 22,898
g d+=2S 75,683 74,435 1,248
201 er23 | 58,253 57,535 718
01 At2teltl 26,483 13,478 13,005
OXEEE XML Z2)8 AIER
3,800,000& 3,800
OZMH SFRMHM === (HSX3E])
502 #1,800Ex20 M= HE = 1,800
OMgagR 22 S=2MA 1,600
=t 70,0002 81 *23] 1,120
-2k 30,0002 *8IH*22] 480
Osli+==2 90,0002 * 142 1,260
OgEXIxtg EXIS MEH|
11,0002 *30H 330
Ogxigise It ==l
20,0002 = 150K 300
OMgds 8225 ¥
5002 +9,000H 4,500
OB gxigs 1=t
130,000& *30&H 3,900
OHNMExte Bisit dXl ALY SE2E &
K2 2=H| 4,496,500 <22 8,993
02 S3=gHl 31,770 44,057 N12,287
OMEINAN &€ RERS 26,130
-S7|2# 2,530& +2,0004 5,060
-LoRH 4303 *49,000A 21,070
OgaeIAal| gMxte =X 3,720
-ASIHA 300,000 *1CH 300
k=l 160,000 « 122 1,920
-288 500,000 *1CH 500
-==clHl 1,000,000 = 1CH 1,000
OXE SR ADE 2HIZDD| S4l]
80,000 »2CH =128 1,920
206 =4I 1,540 1,540
01 M=4l 1,540 1,540




S HED
M B HHO K

Siol: ENREE (9l @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNZA MEDNA 2
77,0003 x202 A 1,540
303 Z&=s 14,100 14,100
01 o= 14,100 14,100
Od=2g 13,000
-EE
300,000, 000& *1/100 3,000
piLa=bes
150,000,000 *3/100 4,500
L=
110,000, 000& *5/100 5,500
O™l 1,100
x| 500,000& %18 500
-2 300,000 x2E! 600
405 KM= 1,790 1,790
01 = 1,790 1,790
Ostgd =57 1,790
-0I=H 300, 000& *2H 600
-ga= 150,000 5H 750
-Aods 220,000 <2H 440
SEA 2,400 7,080 /4,680
201 et 400 4,000 A3,600
01 AlR2te 400 4,000 23,600
OXIZ Al
4,0002 %100 400
303 Zal= 2,000 2,000
01 Z&= 2,000 2,000
Og=24 M#A
40,000,000 *5/100 2,000
M2l 2t 36,713 36,179 534
201 Ler=23 | 24,493 24,099 3%
01 AtR2telHl 14,920 6,926 7,994
OuE838 Mosgs =
=2 (Ml 100,000 5,100
OAMI2l+=& 2= & 2,020
=t 70,000 *11JH*22] 1,540
-2t 30,0002 *8IH =22 480
ONel=¢
100,000 x2A 200
ONel+=¢ o] AIAES ALS
= 7,600,000 7,600
2 3522 9,573 17,173 7,600
OFsth g5 &
1,000& %3002 300




2A:

M s R K
&2l A= ES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAMIel= MEDXM sE2HeZ
4302 %17,1004 7,353
OSEERE ANEE Sl
80,0003 x2CH* 122 1,920
206 M=l 3,220 3,080 140
01 M= HI 3,220 3,080 140
OAl2l+=2 OXIA 7Y
80,5003 202} A 1,610
ON2l4+g He oilie 2 DA 2
80,5003 x202t A 1,610
303 Zal= 9,000 9,000
01 Za= 9,000 9,000
(OFSEFas= 8,000
-HEE MEA(EIL)
200,000,000& *1/100 2,000
-HEE MY (2Hxt)
100,000,000 *3/100 3,000
-HEE MEA(3ER)
20,000,000& *5/100 1,000
-S2AMEg= 40,000,000& *5/100 2,000
ONe+e 28 2A AlY 1,000
= LIS 500, 0002112 500
24 300,00024 1€} 300
-2 200,000 %18 200
MR eHES AEAA 48,600 120,600 AT72,000
EL2ES 48,600 120,600 AT72,000
201 er2 3| 21,600 30,600 29,000
01 At2tlt] 16,600 17,600 21,000
OXNZAL A @2 S22 A 9,900
=t 70,0002 *117H+03] 6,930
-2k 30,0003 *11JH+92 2,970
OXIZAl 2t 212 M&
4002 *10,000% 4,000
Od &AM ZAHH MZ
250,000 *6H 1,500
O8AY NI HAIE M
1,200,000 *1H 1,200
02 s3=gbl 5,000 13,000 28,000
OXLASAH ADHS 2l SERS
500 %10,0004 5,000
301 LEtE NS 27,000 24,000 3,000
14 IIEt2 83 27,000 24,000 3,000
OdaEMA X3 27,000
“SIIZ2 XA NHSOIME T AR
3,000 *4,00024 12,000




2A:

AIE

S st WE XA
SRl EAIAL 2HESl NEAA (e A
(=] X ZH Ctel (3 (=] MK OH E‘“.—jE =2}

-HIIZNYA E24 2d=E 7Y

30,000 »50024

15,000




